Find the center of mass of the region between the curves y= % and y=6-2x. ( |)L§) SCORE: /14 PTS
%';' = b-2x% (2,2)
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Find the length of the curve y=28+); from the point (1, 3) to the point (2, 22 SCORE /6 PTS
B ) i
= - 9
3 HY *?X jjl ('—Z.X Jrj-— 3) Ax :ﬂ'l—it;,}.z_)_(—al_p
S | sk o 8 —
x> X
A J JTe Rt dx* — B L
_ | &
= T T s il ‘ _
ALL \TEMS j.qun,u,x Ax 2
b ecd
R
@ POINT - j. (7 1) dx
2
= — g, L 9)
(=3 Fx i




[t takes a patient at most 30 minutes to respond to an injection of a certain drug. A randomly selected patient is SCORE: /10 PTS
given an injection of the drug, and X is the random variable representing the time it takes for patient to respond (measured in units of hours).

=, x€[0,7]
If the probability density function is given by f(x) = 0"‘ x[0,4] for some constant k , find the mean (average) response time.
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